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1 Why were the workers in England hostile to machines and new technology?

A. They did not know how to use these.

B. They feared that they would lose their jobs and livelihood.
C. The workers were too poor to buy new machines.

D. They were scared of machines.

2 The expansion of railways helped in expansion of which of the following industries?
A. Cotton and Metal

B. Iron and steel

C. Mining

D. Wooden

3 In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

Assertion (A): As cotton industries developed in England, industrial groups began worrying about
imports from other countries.

Reason (R): They pressurized the government to impose import duties on cotton textiles so that
Manchester goods could sell in Britain without facing any competition from outside.

Options: -

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Ais true but R is false.

D. Alis false but R is true.
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Who published the book ‘Dawn of the Century’?
A. Shankar Mahadevan

B. E.T. Paull

C. Mahatma Gandhi

D. James Hickey
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What is the significance of the above-mentioned picture?
A. Label of an Indian Temple

B. Label of a British product

C. A. Label of an Indian mill cloth

D. None of the above
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